竖式计算一
34+47-15=           91-19-56=        33+27+18=  

15+55-33=          89-39-26=         12+18+37=  

29+28+27=          51-16+26=         28+18-27=   

79-16-28=

竖式计算二

97-17-38=           18+49+28=        22+49-23= 

66-27+19=           38+14+19=          29+27+26=   

37-29+16=           45+45-22=          98-65-26= 

21-8+39=

竖式计算三

91-39-45=          24+47-26=          88-66+49=  

28+19+17=           56+26-39=          67+27-45=

51-22+39=           63-37+38=           29+36-25=  

30-13+68=

竖式计算四

90-87+48=              66-39+47=          75-18+7=   

64-55+45=             58-17-38=          18+49+28= 

22+49-21=               21-8+39=           66-27+19= 

38+14+19= 

竖式计算五

29+27+26=             37-29+16=         45+55-22=  

94-65-26=          92-39-45=          24+47-26= 

88-66+49=          28+19+17=           56+26-39= 

67+27-45=  
